S340

Montagehandleiding

Leeftijd:

EUROPLAY nv

Age: 6-15 Ee
. - gene 9
Notice de montage ||4&°80up: || B 5700 DENDERMONDE
Kabelbaan ) & e tel. 32.52.22 66 22
Telepherique Assembling manual ' fax.32.52.22 67 22
Sei lbahn . www.europlay.eu
. Montageanleiting
Aerial Runway ; . Dat.. 28/02/2012
Teleférico Instrucciones para el montaje
Page: 1/11
VALHOOGTE / HAUTEUR DE CHUTE ,
FALL HEIGHT / FALLHOHE / ALTURA DE CAIDA
F Y
e

VEILIGHEIDSAFSTAND / ESPACE DE CHUTE / SAFETY AREA /

SICHERHEITSABSTAND / ZONA DE SEGURIDAD

¢

4000

24020

AFMETINGEN
DIMENSIONS
MASSE

DIMENSIONES
L: 20260
H: 3600
Br: 2210




Montagehandleiding -- Assembling manual | Dat.:10/01/2014
8340 Instrucciones para el montaje
Notice de montage -- Montageanleiting Page: 2 /11

Benodigdheden -- Liste des piéces -- Requisites -- Bendtigtes -- Accesorios

4x 18,7 kg KA354
@120 x 3540
4x 212kg KA400
( 3 o e (=] (O
@120 x 4000
2x KA150 2x KA140
- ~D C—————"0
@100 x 1500 @160 x 1400
6x KA110 4x KA90 4X  KAS80
(, a(o ( CR— - = @ L - ©
@100 x 1100 @120 x 900 @120 x 800
2% A | 2x SR e e e e e
13,3 kgb——+—+H— 35 kg
T Hl © NN ] NN )
1 1
B 2150 |
Ix 1x
O q
23m 2x
12x [ 52xM12 8x Ix
' 4x M10 ¢ D
[D D15 x 500
Mi12
52x M12 1x
= ,
: ) YRV )5\\1
D12 cm - J
4x M10x180 8%
8x M10x200
24x M12x140
L6x @ JURARAALRARNLY M12x200 Drmsasne—
4x M12x220 4.5 x 50
8x M12x230




S340

Montagehandleiding -- Assembling manual
Instrucciones para el montagje

Dat.:28/02/2012

Notice de montage -- Montageanleiting Page: 3/ 11
)
i




S340

Montagehandleiding -- Assembling manual | Dat.:28/02/2012

Instrucciones para el montaje

Notice de montage -- Montageanleiting Page: 4 /11
! )

(]

~O

o

o ™~

g |

(49
)
_2000 _

(]
N
O
<t
o™~

S I

S 3

o

o™
r

2000
4000




Montagehandleiding -- Assembling manual | Dat.:28/02/2012
S34() Instrucciones para el montaje
Notice de montage -- Montageanleiting Page: 5/11
]
o 2260 el b
o 4980‘_ 600mm* g
X \ O
w
O~
o
O
=
x X C)‘
o
o~
X X ‘
_— P i . o
Tomea T E e w i
™
e ——— RS ST~ S S
0500 CI1500
0600
e 0060
‘ | = I
0500, _|0500
j 1 1
0600 |, ,_|23600
e 870
~ /| 1510
PlEoe ~ / st
% Q 8 < /[ | 3130
Y ) /




Montagehandleiding -- Assembling manual | Dat.:10/01/2014
8340 Instrucciones para el montagje
Notice de montage -- Montageanleiting Page: 6/ 11

A/\ KA354 R
7 =Y ” ey \)
& \&
\:SQS;? C KA354 A
'\ i \A@v
& \&
M12 x 230 M12 x 200
M10x180

/ ©
DETAIL B DHA&:\<iiE>> ESEZEEJ

SCALE2:25 SCALE1:




Montagehandleiding -- Assembling manual | Dat.:28/02/2012

Instrucciones para el montaje

Nofice de montage -- Montageanleiting Page: 7/ 11

/ N\

| %
S )

: E o bl
O 2? | [

Do ]




Montagehandleiding -- Assembling manual
Instrucciones para el montaje
Nofice de montage -- Montageanleiting

Dat.:28/02/2012

Page: 8 /11

ARVAN

=
>2000

P—

DETAIL P
SCALE ] Z 1o




S34() Instrucciones para el montaje

Montagehandleiding -- Assembling manual | Dat.:10/01/2014

.

Notice de montage -- Montageanleiting Page: 9/ 11

Herhaal punt 2 tot en met 5 voor het 2de vertrekstation
Répétez poins 2 a 5 pour la deuxiéme station de départ
wiederholen sie punkt 2 bis 5 fiir die 2e abfahrtsstation
Repeat points 2 till 5 for the second departure station
Repita el punto 2 hasta 5 para la segunda estacion de salida

ol s

200 200

SN
640




Montagehandleiding -- Assembling manual | Dat.:28/02/2012

8340 Instrucciones para el montaje
Notice de montage -- Montageanleiting Page: 10/ 11




S340

Montagehandleiding - Assembling manual | Dat.:28/02/2012

.

Instrucciones para el montaje
Notice de montage -- Montageanleiting Page: 11/ 11

Bij droog weer moeten alle bouten en schroeven opnieuw aangespannen worden.

Par temps sec il faut resserrer réguliérement toute la visserie.

By dry and warm weather check the tightness of all bolts and screws.

Bei trockenem Wetter missen alle Schrauben und Bolzen aufs neue angespannt werden.
Para el tiempo seco, se necesita cerrar o ajustar los tornillos y tuercas.




